170 + 40 =

© What sum of money is

" SECTION 1 | Test 7

1800ml= L = ml 1L 800ml

25 +15 = S — 40

1)m A8m = i cm 148%cm

%hour+35min= =~ h omin ik 5Smin

210

three 20ps — =" p = 5tp - _5p

A5 +5= - 5
£1-46p= " p 54p

8p x 3 =two 10ps + & 2ps . 2.2ps

Multiply O by 6. .|

Subtract 73p from £1.
6+30+400=
Write 845 to the nearest 100. B00

Write 14 using Roman
numerals.

How many times heavier

is 35kg'than 5kg? B

From 10 times 10 take

5 times 4. e g0

Write the next two numbers
in this sequence.

100, 125,150, =, 375

3 times larger than 15p?

Add one-fifth of 10 to

one-tenth of 10. 3

47p

436

200

asp
i.jq

How much change from £1
after buying 10 buttons each
costing 6p? __40p
How much further is it

from Walsh to Ting than

from Ting to Griss? _...iBkm

47km PRI S

e g Griss
% Ting
Walsh

Write these fractions in order,
from smallest to largest.

1

11
4 2 1

(TP

1 1
7 S [ A S

When two numbers are added

together the answer is 45.

One of the numbers is 29.

What is the other number? 16

How many quarters of the
strip are shaded? 2

How many

~ complete turns

V' will the minute

hand make

until the

clock shows

9157 N 3

Ben has 9p left, which is
one-quarter of his spending
money. How much had he
at first? ..36p
How many times is the six in

69 greater than the sixin96? 10

How much

would it cost

altogether for

five large and

five small stickers? ... .

Stickers
large 8p
small 4p

60p

If 10 plums can be bought
for 80p, what will be the
cost of three plums?

Schofield & Sirms

_24p.

Mental Arithmetic 2 Answers

1M8cm =1m = cm
5x7=30+ =
85p = 10ps + one 5p

I

-

I

7kg-300g= " g

twenty 5ps = = 20ps

éZO -40 =

24cm + 36cm = ";_rm + & am
Round 74 to the‘ nearest 10.

1 hour = 35min = “: min

Increase 52 oy 18.

1 metre minus 63 centimetres

5 more than 3 sixes
47 more than 28
35cm less than %m

Write the next two numbers
in this sequence.

12,18, 24,30, =+, .

One-fifth of a number is 9.
Find the number.

Multiply 9 by 6 and add 5.

Find the change from 50p
after spending 38p.

Divide the sum of 24 and
8 by 4.

76

_3/am

23

75

12p

42

1

10

SECTION 1 | Test 8

Find the difference in length

between these two lines. zam

1 p 3 4 5 4] 7
N AU W N I O O |

<mn

What is the change from
three 20ps after spending 53p?  7p

Write to the nearest 10 the
sum of 35 and 23. S - 1!

How many fewer small squares
are there in the rectangle than
in the large square? T |

Rowan drinks %l of milk

each day. How many

litres does he drink in

two weeks? R

Add L of 3510 L of 16. I

Two biscuits cost 18p.
How much do three

biscuits cost? 27p

Meera wishes
to save 50p.
How much
more does
she need?

Meera’s savings
10ps | 5ps | 2ps
2 2" 2

a5

There are 100 pages

in a book. Emily read

28 pages on Monday

and 32 pages on Tuesday.

How many more pages

are there left to read? R .

Write these decimals in order
from smallest to largest.

|75 49 66 76

48 66 75 76




